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M.Com. (Previous) Banking & Bus. Eco.

Examination, 2016

QUANTITATIVE TECHNIQUES &
DECISION MAKING

Time Allowed : Three Hours
Maximum Marks : 100
_ ?ART—A (Eug-371) [Marks : 20
Answer all questions (50 words each).

All questions carry equal marks.
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PART-B (@Ues-9) [Marks : 50

Answer five questions (250 words each), selecting one

from each Unit. All questions carry equal marks.
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PART-C (©UE-H) [Marks : 30
Answer any two questions (300 words each).

All questions carry equal marks.
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PART-A
(EUe-3)
1. (i) Write two uses of Index Numbers.
YuHw F PR 3 STEfae fafeu
(ii) Define Time Series.
FHA S w gl Hifey)

(i11) ‘What do you understand by Method of Least

squares ?

TFEAH o YOSl W MY d WEEd ©7
(iv) What is Seasonal varition ?

Aadt =1 g o= w22

(v) Differentiate between Simple and Multiple

Co-relation.
WO T SEO TE-He & HeA SR wasy)
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| (vi) What are Regression Coefficients ?
| EtiCenikiices

(vii) What do you understand by Association of
Attributes ?

T Hed ¥ A9 w87
(viii) What is Convenience sampling ?
Gfaeger feel w22
(ix) Write two characteristics of Linear Programming.
faw o w1 fasivad fofe)
(x) Give two assumptions of Transportation model.
famur yfieq =t 2 A 6E
PART-B
(Evs-9)

UNIT-I

(3=TE-1)

2. “Quantitative techniques are the bases of decision

making.” Justify this statement.
“ufEnrers wfatet foke gtewed @ e 31
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3. Calculate Index numbers taking the prices in (i) 2006
as base, (ii) 2013 as base, (iii) Average of prices in
- the year 2006 to 2013 as base :
Year Producdtion

(in million tonnes)

2006 3.2
2007 2.5
2008 3.8
2009 44
2010 45
2011 49
2012 - 5.6
2013 6.1

= gel ®1 WeE § (1) 2006 I SER SRR,
(i) 2013 T MER FAHT, (iii) 2006 ¥ 2013 & FeAl
o ST i YR TFHL GEFIh] i AT HIY :

Y IUTRH
(fafea = #)
2006 3.2
2007 2.5
2008 3.8
2009 4.4
2010 45
2011 49
2012 5.6
2013 6.1
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UNIT-IIT
( SeRTZ-II1.)

6. Explain the meaning and importance of Correlation.
Give the general rules for the interpreting its

coefficient.
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7. Following information is available for X and Y series
X =20, Y=45,byX =4,be =1/9.
(1) Find Co-efficient of Correlation.

(ii) If Standard deviation of Y is 12, find Standard

deviation of X.
(ili) Write down the equation of two regression lines. |
XAY it 9 wafm fre W Koo go € ;
X=20,Y=45,b, =4,b, =1/9.

(i) 92-99Y % g Hifew| |
(ii)“ﬂrﬁ'Ywmﬁaﬁqlz g, @ X % yEM™
famer @ Fifs |
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UNIT-II

(geTE-11)

4. Describe the various methods in determining Trend

in Time series.

TH & guit o SuHfa fraio w1 fafa= ?ﬁﬁﬁﬁiﬁ_aﬂ
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5. Fit a straight line trend and estimate Trend value
for 2015 :
Years Production
2007 8
2008 9
2009 8
2010 9
2011 16

=9 fiu 7T SRy getud gHa YR W WA
Yan suAfa fAfyad wifee @ 2015 &1 ST™A 99 A

HifeT '
EL| iy
2007 8
2008 9
2009 8
2010 9
2011 16
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UNIT-IV

(ZHTZ-1IV)

The following tables give the age of mother and
the average number of Children born per mother.
Using the ‘Binomial expansion’ method, find the
average number of Children per mother, aged
between 35-39 years :

Age of Mother No. of Children

(Years)

15-19 7
20-24 2.1
25-29 3.5
30-34 4.8
35-39 ?
40-44 5.8

f7=r wrot & A = oy 9w ToE o ¥ s a=af
® HEA F AEG fem ) fiug fmer AfF E
YA A TC 35-39 @ F oog & tw W 9
SO T wy oied e frefew

a w® e No. of Children

(= )

- 15-19 0.7
20-24 2.1
25-29 3.5
30-34 4.8
35-39 ’ ?

40-44 5.8
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10.

A good sample must be a Random sample.
Discuss.
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UNIT-V

(3HE-V)

A prociuct to be manufactured by using two types of
raw materials A and B. For a certain objective the
weight of the product should be 150 kg. At least 14
units of B and not more than 20 units of A should be
used in the manufacturing process. Each unit of A
weighs 5 kg and each unit of B weighs 10 kg. How
many Iunits of A and B should be used to minimise
the manufacturing costs, if cost of one unit of A is

Rs. 2 and that of B is Rs. 8 ?
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11. Give the similarities and dissimilarities of the

Transportation and Assignment problems.
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PART-C
(TUs-9)

12. “Quantitative techniques are the basis of decision

making”. Justify the statement.

CgframoaTe Wit FolE wfemell w1 OSTER 21"
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13. Distinguish between Secular trend, Seasonal variation
and Cyclical variation. How would you measure

Secular trend in any data ?
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14. The Data regarding the heights of 10 fathers and

Height of Father
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Height of Son
68
66
68
65
66
65
71
67
68

70
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o =t e RERCIEE I
65 68
63 66
67 68
64 ‘ | 65
62 66
66 65
68 71
67 67
69 68
71 70

15. Comment. on the necessity and usefulness of
Interpolation. Describe the graphic method of

Interpolation.
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16. Find the initial feasible solution of the following

Transportation problem by three methods :

Production Distribution Centre Supply
Centre D, | D, D, D,
o 4 6 22 14 6
E 2 0 12 2 1
P, 10 16 30 18 10
Demand 7 5 3 2

IcaTed faamo &= ATl
E D, D, D, D,
P, 4 6 22 14 6
B 2 g B 2 1
P, 10 16 30 18 10
LI t 5 5 9
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